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Let x = number of lefties 
      y = 9x 
where does this line cross the line
     x + y = 30 ? 
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tree 1 :  y = 1x + 3 
tree 2 ; y = 1/2x + 4
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Members :  y = 3x + 20 
 non members :  y = 5x
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job 1  y = 9x 

job 2 y = 12x - 39

These lines intersect
where the number of
hours is 13, meaning
that at either job
you would make the 
same amount of
money. 
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Two or more lines
from two or more
equations intersect
at the point (3, 7). 

These are graphs
of some equations...
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Plan one 
y = 0.20m + 40 where m is the number of txt msg

Plan two
y = 60 no per text message free - just a 

                                  flat $60 per month. 

a. Draw the graph a see where the 
    lines intersect; 
b. look at what the cost is of each 
    plan at 50 messages
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Don't graph - but you can put them in slope-intercept form: y = mx + b
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any equation with the same slope, 
different y-intercept 

any equation with the same slope, 
same y-intercept - the equations  
would represent the same lines, and 
if you drew them one on top of 
another they would intersect at an 
infinite number of points. 

any equation with a different 
slope will intersect at one point
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Select different values for g and h 
and see what happens
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The first hiker has a head start 
and hikes faster than the second 
hiker.   The second hike will not 
catch up to the first hiker 
anywhere on the trail. 
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= 5m - 60 + 8 = 5m - 52
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Two lines that are parallel will have the same slope. Put 
but equation in slope-intercept form as needed to help 
you identify the slope:   y = mx + b 
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